The Best Commercial Outdoor Furniture Available. Period.

1. Drill out the holes in the side with a 7/16” dia. drill bit. Also drill out the holes in the side of the
base and top.

2. Roll the side so that the angles at each end are on the inside of the tube. Two ratchet type load
binders work well for this. Then bolt the ends together with the 1-1/2” long Hex Head Bolts.

3. If you are mounting the planter in place, drill out the four holes in the bottom plate of the base
with a 7/16” dia drill bit and fasten to the floor with the appropriate fasteners. Skip this step if
the planter will be free standing.

4, Place the side into the base and align the holes on the side of the base with the openings in the
expanded metal side. Use the 1-1/4” long Button Socket Cap Screws so fasten the base to the
5. ;;12?2.111 the top ring to the side and align the holes on the side of the top ring with the openings in
the expanded metal side. Use the 1-1/4” long Button Socket Cap Screw so fasten the top to the
In Accordancseldeio California law: WARNINGThis product contains a chemical known to the State of
California to cause cancer and bhirth defects or other reproductive harm.
ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 653-106 Round Receptacle Base ]
2 653-741 Round Planter Side ]
3 653-721 Round Planter Top 1 )
4 516-058 3/8'x1-1/2" $S Hex Bolt 2 28" Round Expanded
5 516-045 3/8"'x1-1/4" SS Btn Skt Cap Screw 4
6 516-023 3/8"SS Flat Washer 12 [sz[owe wo. 9PL-102 ReV.
7 516-028 3/8" S Nylock Nut 6 | o



Cari
Typewritten Text

Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.

llafontaine
Rectangle

llafontaine
Rectangle

llafontaine
Rectangle


	premierpolysteel.com
	9PL-102
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3






